
PN
(Bar)

Boru 
Çapı (d)

ITEM CODE

Basınç Boru 
Çapı(d)

PARÇA KODU

6 M12x1,5 27 12 26 12 14 225200606

8 M14x1,5 29 14 27,5 12 17 225200808

10 M16x1,5 30 15 29 17 19 225201010

12 M18x1,5 32 17 29,5 17 22 225201212

15 M22x1,5 41 26 34 24 27 225201515

18 M26x1,5 40 23,5 34 24 32 225201818

22 M30x2 44 27,5 38,5 27 36 225202222

28 M36x2 47 30,5 41,5 36 41 225202822

35 M45x2 56 34,5 51 41 50 225203535

42 M52x2 63 40 60 50 60 225204242

6 M14x1,5 31 16 27 12 17 225300606

8 M16x1,5 32 17 27,5 17 19 225300808

10 M18x1,5 34 17,5 30 17 22 225301010

12 M20x1,5 34 17,5 31 17 24 225301212

14 M22x1,5 40 25 34 24 27 225301414

16 M24x1,5 43 24,5 34 24 30 225301616

20 M30x2 48 26,5 39 27 36 225302020

25 M36x2 54 30 44 36 46 225302525

30 M42x2 62 35,5 51 41 50 225303030

PN 315 38 M52x2 72 41 59 50 60 225303838

K506 6

AA2d1 lL1 AA1l1

L
NB
PN
315

PN 160

S
YB
PN 
630

PN 400

   OTT - ORTA BACAK TERS T

    EVT - Standpipe Brunch Tee

KURTMAN




